B=EOHSTIEME/IL—IRZIR [RAEBF(V](HM6F9R1H~)

No INRIEZ Clic 10~ 1685 178 180

1 =EER 30 45 00 15 30 45 00 15 30 45 00 15 30
2 CINY= v 32 47 02 17 32 47 02 17 32 47 02 17 32
3 XAEETE 32 47 02 17 32 47 02 17 32 47 02 17 32
4 T ENiE 33 48 03 18 33 48 03 18 33 48 03 18 33
5 =EQFH DIV EMEE 35 50 05 20 35 50 05 20 35 50 05 20 35
6 BEFEAO 36 51 06 21 36 51 06 21 36 51 06 21 36
7 TE#E 37 52 07 22 37 52 07 22 37 52 07 22 37
8 EEEYEES 39 54 09 24 39 54 09 24 39 54 09 24 39
9 ki) 40 55 10 25 40 55 10 25 40 55 10 25 40
10 {hHETEY 40 55 10 25 40 55 10 25 40 55 10 25 40
11 =JEER 48 05 20 35 50 05 20 35 50 03 18 33 48
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